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OH golls Ss2M s&g s X
100,000& * 1,800ha 180,000
< 54,000
[ia 126,000
OnNSEH THHHEX =4 K&
750,000& = 170ha » 0.7 89,250
< 25,500
[ia 63,750
O dolls s X
100,000& * 500ha 50,000
< 15,000
[ia 35,000
OJlsds THHHE X =4 K&
750,000& = 100ha = 0.7 52,500
< 15,000
s 37,500
Osdetd A& XI& 50,0003 * 400K E 20,000
< 6,000
i 14,000
B s24H& XA 1,703,780 1,614,900 88,880
206 M= Hl 1,703,780 1,614,900 88,880
01 M= 4l 1,703,780 1,614,900 88,880
OH JIAHOIY AEME K&
170,000& * 5,275ha 896,750
Ol &2& X ™MelM K&
147,000& * 5,490ha 807,030
DSE BMHATIH XIS A 8,596 8,596 0
201 Let249] 1,900 1,900 0
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XMZIH: =A
L= B =
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el D

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
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£l
Ol
0y

O=cle d& sTHH K&
360,000& = 7ha = 0.7 1,764

504
1,260

M H

Ouns&d FR()sXM X

400,000& = 25ha = 0.7 7,000
2,000
5,000

M H

= Et& = THHHXI & 1,166,200 1,601,400 A 435,200
932,960
69,972
163,268

HH A

301

1o
T
H
[Pl
oy

1,166,200 1,601,400 N 435,200
932,960
69,972
163,268

MW

12IIEt2a= 1,166,200 1,601,400 N 435,200
O= Et&= MHH X & 3,400,000¥ = 343ha 1,166,200

932,960
69,972
163,268

RURL Y

E
0z
=z
PA
02
S
s
P
0x
=
i

18,200 16,000 2,200

5,200
13,000

EUNLY

402 212t X201 & 18,200 16,000 2,200

5,200
13,000

M H

02 (I 2ASEZ(0OIETHR) 18,200 16,000 2,200
O MAXHE JgtXd ALY
2,000,000& = 13ha = 0.7 18,200

5,200
13,000

M

sogel sXXH 561,550 510,045 51,505
15,000

91,680
454,870

Mo A

sgeltdstiis K& 60,000 200,000 A 140,000

301 LEtEH S 60,000 200,000 A 140,000

02 Zet=2st ks 60,000 200,000 A 140,000

OsogdIndXtHst RS A3
800,000& * 75¥ 60,000

SHOUTHHAE S HE X2 441,600 241,920 199,680
77,280
364,320

UL

307 21201 & 441,600 241,920 199,680

77,280
364,320

EUNL




AN sg€II=4dH
BH: sAMAYs
Sl S0l =X CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
06 283 441,600 241,920 199,680
OsgMaltESHE K&
96,000& = 11,500 * 0.4 441,600
< 77,280
e 364,320
sHILHLE 25,000 35,000 A 10,000
= 15,000
< 3,000
s 7,000
307 glz2tol & 25,000 35,000 A 10,000
= 15,000
< 3,000
s 7,000
02 PIZHEHAHE L 25,000 35,000 A 10,000
OsgZIALE 5,000,000& = 5H 25,000
= 15,000
< 3,000
[ia 7,000
SIIHER0IX A 22,950 19,125 3,825
< 5,400
[ia 17,550
301 LEPEXZ 22,950 0 22,950
< 5,400
e 17,550
12 JIEtE4 3 22,950 0 22,950
OsJtE<0 XN&
50,000& = 6H 902 * 0.85 22,950
< 5,400
s 17,550
FDN=sHZINUE WX 12,000 14,000 A 2,000
< 6,000
e 6,000
403 MtXISHH S0l & 12,000 14,000 A2,000
< 6,000
e 6,000
02 S 2SO HEAEE 2 E AL 12,000 14,000 A 2,000
OzlN=sHIINUE WX
2,000,000& « 64 12,000
< 6,000
[ia 6,000
SIHASoHE 10,126,609 9,924,169 202,440
= 8,035,941
J| 47,661
< 577,301
e 1,465,706
MASEE DFANEXN=ES 6,823,090 6,823,090 0
= 6,823,090




AN sg€II=4dH
Ha: sHRWAAG
& sIHasoHE (Sl & &)
SA BB (S) - MRAY - BAS 0l &k o4 il Hl DS 2
301 LEHZ 6,823,090 6,823,090 0
= 6,823,090
12243 6,823,090 6,823,090 0
OMASEH DN
1,016,248& * 6,714ha 6,823,090
= 6,823,090
HANES AIEH NS 47,661 47,661 0
J| 47,661
101 @14 Hl 39,200 0 39,200
J| 39,200
04 JIZHHZ2XRHESE S+ 39,200 0 39,200
ONXNES HRE=J 39,200,000& 39,200
J| 39,200
202 o4dl 8,461 14,098 N5,637
J| 8,461
01 = LH &4 1l 8,461 14,098 A5,637
O#NFX=ES 2= 8,461,000& 8,461
J| 8,461
TAH=LIHEZ 68,250 63,180 5,070
= 54,600
= 13,650
301 LeEAF 68,250 63,180 5,070
= 54,600
[ia 13,650
12JIE243 68,250 63,180 5,070
Oxd=cldE=3 650,000& = 105ha 68,250
= 54,600
= 13,650
H Milsot 2SAE L= X2 1,924,335 1,801,600 122,735
< 577,301
s 1,347,034
301 LEHZ 1,924,335 1,801,600 122,735
< 577,301
s 1,347,034
12JEEd=S 1,924,335 1,801,600 122,735
O M=ot 2HLE NS NS
1,924,335,000& 1,924,335
S 577,301
s 1,347,034
SsEs=sEsd 105,022 105,022 0
202 Odl 5,022 5,022 0
01 = LH 4 Hi 5,022 5,022 0
Os=gasgexza 139,500& » 3Y¥ = 128 5,022
402 RI2EX20l A 100,000 100,000 0




AN sg€II=4dH
BH: sAMAYs
CHol: Sl ASOHE (S &2)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
01 U2 E2ALEX (KA M) 100,000 100,000 0
OdESIIFEAY 20,000,000 * 5JH AbE 100,000
gdsgA=3 1,144,800 1,054,000 90,800
= 1,144,800
301 LA S 1,144,800 1,054,000 90,800
= 1,144,800
12 JIEE4 3 1,144,800 1,054,000 90,800
OLsHA=ES 540,000& = 2,120ha 1,144,800
= 1,144,800
dsgiEa #EH 13,451 20,268 A6,817
= 13,451
201 L Er2A | 13,451 20,268 26,817
= 13,451
01 Ar22t2l bl 9,451 20,268 A 10,817
Oger==EH| 9,451
—gsgAEM HFH| 9,451,000 9,451
= 9,451
02 324l 4,000 0 4,000
Os382= 4,000
—XNER PHRI 4,000,000 4,000
= 4,000
HEy=UNe 5,409,379 5,280, 113 129,266
= 1,916,422
= 224,800
s 3,268,157
eI saS 1,700,162 1,466,896 233,266
= 30,000
= 75,200
[ia 1,594,962
et B MACT] 55,802 78,596 N22,794
201 et 10,400 10,400 0
01 AFR2t2lHl 10,400 10,400 0
Oget=EH| 8,000
—MEA=Hol HBUK(ZASY, DA E
, 287¢Y) 8,000,000 8,000
Ogxz 2,400
—dEIRI ==L H2 X
900,000& =+ 2CH 1,800
—dETsPelia g 600,000 * 1CH 600
202 044l 5,022 6,696 A1,674
01 SLHOIYI 5,022 6,696 21,674
Oflgtdstts e =8
139,500&  3F 123 5,022




AN sg€II=4dH
M NHFSAX
el HEF s A2 M CER-ED
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
301 LEHZ 2,380 3,500 A 1,120
09 HALAHIX RS 2,380 3,500 A1,120
ORABARI =L FIH2Y
20,000& = 799H 1,580
OXSB=HoUE &EIEA 20,0003 * 40H 800
307 glz2+ol & 8,000 8,000 0
02 YAFHAANGFEX 8,000 8,000 0
ORJIs=egs 283 XNE
1,000,000& = 20 S &l 2,000
OBYPASY=AANE S X
6,000,000& = 1JH EHXl 6,000
402 RI2EX20| A 30,000 50,000 A20,000
01 U2 EALEX (KA R) 30,000 50,000 220,000
O& si==2Z=D XI& 1,000,000& * 3004 30,000
deZdsgizxy 1,371,060 1,117,000 254,060
301 LA F 194,000 120,000 74,000
12JIE243 194,000 120,000 74,000
Oz edels H ASEA QdEE X3
1,416,660& * 120ha 170,000
OzlEd ot*A M=ot ldlEE
6,000,000& * 4ha 24,000
307 21201 A 72,000 72,000 0
02 HIAFLAHFEX 72,000 72,000 0
Oz gdsits S22UE == 65,000,000& 65,000
O=tHlzE s XA 58,330& * 120ha 7,000
402 RIZEX 201 A 1,105,060 925,000 180,060
01 U2 EALE X (KA R) 1,105,060 925,000 180,060
O s 24 (22X
1,323,529& * 510ha 675,000
Oozadl RS 23N X&
1,000& = 20,0000H 20,000
ozad duzs XA 200,000,000 200,000
O3 =ZHX sJ1H XA
82,000,000& = 0.8 65,600
OB =LHX HM=E=MHE X3
400,000& * 55ha 22,000
Oz DIU=SHHLI K&
1,300,000& = 6CH * 0.7 5,460
ONdESHEE ELMHEM XA
2,093,750& = 40ha * 0.8 67,000
Ozled 2adle XA 1,000,000& * 50ha 50,000
dEdsg M2 30,000 42,000 A 12,000
= 30,000
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A sgI=HH
M NHFSAX
el HEF s A2 M (el @2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
301 et A= 30,000 42,000 A 12,000
= 30,000
12 JIEtE A2 30,000 42,000 A 12,000
OrEBH=SHANEXNEM ALY
600,000& = 50ha 30,000
= 30,000
MEH SR 4o 63,300 67,300 A 4,000
= 21,200
= 42,100
201 et 12,000 9,000 3,000
= 4,200
= 7,800
01 AFR 22| H| 12,000 9,000 3,000
Ogbt4=24| 12,000
—A8YsY HFALY UL
2,000,000 = 30H A 6,000
& 3,000
o 3,000
—XEASHEEX B2 10,0008 * 6005 6,000
= 1,200
= 4,800
402 BI2H X 20| M 51,300 58,300 AT7,000
o= 17,000
= 34,300
02 QIZEXIEAISE X (0| XM THL) 51,300 58,300 AT7,000
OfJsY A=)} II2ZRE KNI AY
12,500,000& * 404 = 0.7 35,000
o= 10,000
= 25,000
OrsdHA=Y RSE4d3 NI AMY
16,300,000 16,300
= 7,000
= 9,300
A 2E A=A 180,000 162,000 18,000
o 54,000
= 126,000
301 et ™M= 72,000 72,000 0
o 21,600
= 50,400
12 JIEtE2 &= 72,000 72,000 0
OFEAH st MAXTA 72,000,000 72,000
= 21,600
= 50,400
307 2iz2to| & 108,000 90,000 18,000
& 32,400
= 75,600




AN sg€II=4dH
Y HBRSYN
el MBS A2 M (SHol: @)
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
02 It M AHE L 108,000 90,000 18,000
Oz ediotex=4d XI&  3,000,000& = 369 2 108,000
= 32,400
[ia 75,600
dEd=sg Iy 3,709,217 3,813,217 A 104,000
= 1,886,422
< 149,600
[ia 1,673,195
FI=sSUM XA 20,043 20,043 0
= 8,000
< 3,600
s 8,443
307 glz2tol & 20,043 20,043 0
= 8,000
< 3,600
e 8,443
02 HAFHAANFEX 20,043 20,043 0
ORI=sLXM XI&  556,7508 * 72ha » 0.5 20,043
= 8,000
< 3,600
s 8,443
sII&2dlg XN& 3,400,000 3,400,000 0
= 1,700,000
< 136,000
s 1,564,000
307 gl2tol& 3,400,000 3,400,000 0
= 1,700,000
< 136,000
[ia 1,564,000
02 It S AHE L 3,400,000 3,400,000 0
OKINIEHIZE X2 A (42,500 )
3,400,000, 000& 3,400,000
= 1,700,000
< 136,000
s 1,564,000
ELHEH X 219,174 219,174 0
= 153,422
[ia 65,752
307 21201 A 219,174 219,174 0
= 153,422
[ia 65,752
02 IZtE S AIHE L 219,174 219,174 0
OEZMEH X2 (1,637E€) 219,174,000 219,174
= 163,422
e 65,752
SYEZFEBEMEIZ2OAY 50,000 0 50,000
= 25,000
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AN sg€II=4dH
HH: AEBSUN
Sl dEPsY JBEY CERED
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
o 25,000
307 glz2tol & 50,000 50,000
= 25,000
s 25,000
02 It M AHE X 50,000 50,000
Osgedsdos=z0d XA
50,000,000& * 1JH A 50,000
= 25,000
e 25,000
SsMEEESEY 20,000 20,000
S 10,000
s 10,000
301 LEMZ 6,000 6,000
< 3,000
s 3,000
12243 6,000 6,000
OEESUEALSEEBHEEE 2,000,000& * 3ha 6,000
= 3,000
s 3,000
402 RIZ2HXt201 ™ 14,000 14,000
< 7,000
s 7,000
02 22t X2 AL E X (01X THE) 14,000 14,000
OEZSSHNSSAE(MAE)EX XA
7,000,000 = 204 14,000
< 7,000
[ia 7,000
=4 ZAH 25 ,806, 127 1,642,615
= ,034,806
s ,663,000
J| 668,289
< 846,635
[ia ,593,397
SAD|EtE S 193,589 11,974
< 54,857
s 138,732
SUEM 2 N3 15,500 A 26,600
201 L2l 15,500 2,400
01 At 22l 15,500 2,400
Oget=&H| 15,500
—Jisgo zte ME 100,000& * 207K 2,000
—JIEYe EE2E QMM E
500& = 3,00001 » 2& 3,000
—JtEYe B4 S ME
50,000& = 1008 = 83l 4,000

_23_




o o o o o o o o o o o o o
(o) © © o o o o o
S |©|© ® | S S S
=+ [eV) — — Al Al Al
n0 » » »
Kl
El
E=]
31818 818 o [0 |0 818 3 3 3
© o o © [¢e] D (o)) D o o (@] o o
~N | o |w — || o |o o o o
s ® |8 = = =
[e]
m<l
RS
o o o o o o o o o o o o o o o o o Y] o) Y] [Ye) N~ (<o) [aN) o o o o o O o O O o
o o o o o o o o o o o o o o o o o N~ N~ N~ N~ ™ [ep] o o o o o O O o O O o
S S & = 9Slg|g|e ool & S © B « O |x|6|Ln QL doln ©|S oS 0dS
— — [aV] [aV] [ (V) [aV) N Ye) Ye) — — — — < o™ o o (<o) <t [aV) (e] (@) (@) Al A O Al Al O [qN]
aor
<
=3
s & g ® & ol 3 B  # B @ 0 ol ol 8 o
= m * - <F - - - o o D * N M © o <) -
> K &
D.:. M'M N q_m\_ J|_| *x A_l *x x x *x x L.Ano *x x N W__.O *x x *x x _I_v
n [ g wE 8 B 2 28 B HE B AT n 2 o ot
[21] OF. K 2 S S S Vo S S gz x S * *
) o O - X - - T - -~ X - * [}
. AS s o o o o Ho WMo o w9 a1 7 30 &
BN LS S M IS < wo o ,© o K o S w ¥ %
— () o o
ol ” K— = w8 w P o =8 5 ] R © 58
= r = S 0 Y o < H & = =
¥ o, = U= = u qo B 58 ® o5 8 Y =3
= |[a - i) K ™o _ E ~ O ™ © —
ol = N ! o ok a H = r ar
S T . _ 5 * m x ¥ oaln O ?
R B 5 0 S 2 s 3 wl|R| |WL -
o3 woooZ K L = A BE TR uo ° Wy °
F B @ ujo =< + ur oF @r A = B LI MK = ol o Hr bl
N = 31 I al|z | R |m|z 8 ) %0 ar < R0 Wouo ook _E ulo >
o L %l %l ) R |R B|® |5 = 7l R0 oo R = ma wm= T 30 I
- T KT i Kd Ar ML KE [KE D[ H | __AL+m < < = < |° T |E I R Ok F T < )l =4
I | | | | S ER B A I T A o R T R I B~ T s ) = A
RO RI|3 |< Ofoal w0 O O O O O Ofuw ||~ O S | O =
. | o |» — |o | = | = ol | = Ho o]
- o («) o o - (@) o o o o
g | N I} |- « i <
I L L ~

_24_




AN sg€II=4dH
My Bo FMY L3
SR CIET (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OJNEMAHEE XS At
528,000,000& * 0.25 132,000
< 52,800
s 79,200
SAMAE JDIetd BE X3 ALY 4,114 0 4,114
< 2,057
s 2,057
307 gl2tol & 4,114 0 4,114
< 2,057
s 2,057
02 IZtA M AIHE L 4,114 0 4,114
OSAMAIE &) tdFZH XN& 4,114,000& 4,114
< 2,057
s 2,057
ZAZHADIB =Y 499,076 383,900 115,176
J| 138,940
< 81,401
e 278,735
Z2ESIH HH M HAAMS 66,000 66,000 0
402 RIZ2EXH20| A 66,000 66,000 0
01 2IZEt 2 A B (KM &) 66,000 66,000 0
O2EZA X BIEXE
100,000& = 2,2002 * 0.3 66,000
IMNE SE22 X2 17,180 20,400 AN 3,220
J| 8,590
= 2,577
s 6,013
101 14 Hl 17,180 16,700 480
J| 8,590
< 2,577
s 6,013
04 JIZtHZ2XREES 17,180 16,700 480
O=ZMNE SEEI 2|
68,7203 * 18 » 250 17,180
J| 8,590
< 2,577
s 6,013
IMNSHAS SI2Y XS 90,300 94,500 A4,200
J| 38,700
< 15,480
s 36,120
402 RI2EX=201 M 90,300 94,500 A 4,200
J| 38,700
< 15,480
s 36,120
02 QI EAILSEZ (OIS ) 90,300 94,500 A 4,200
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AN sg€II=4dH
My Bo FMY L3
©?: ZAZMAIEE =Y (&
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OANzxE ST X
300,000& = 430ha * 0.7 90,300
J| 38,700
< 15,480
i 36,120
IMNSHAS AFZ2XHE K& 205,200 108,000 97,200
J| 68,400
< 34,200
s 102,600
307 glz2tol & 205,200 108,000 97,200
J| 68,400
< 34,200
s 102,600
02 PIZHEHAHEE 205,200 108,000 97,200
OXZME At elXl MZEHl X&
60,000& = 3,800 = 0.9 205,200
J| 68,400
< 34,200
i 102,600
IME JIAHEE XN&A 27,396 95,000 AB7,604
< 8,219
s 19,177
402 2I2H X201 M 27,396 95,000 AB7,604
< 8,219
s 19,177
02 QI EASEZ (01X TS ) 27,396 95,000 AB7,604
OZAME J1AHZH XA (sH)
136,980,000& * 0.2 27,396
< 8,219
s 19,177
TAE o JIHEBH 2 K& 93,000 0 93,000
J| 23,250
< 20,925
s 48,825
402 QI2H X201 M 93,000 0 93,000
J| 23,250
< 20,925
i 48,825
02 QIZEH 2 A EZ (OIS ) 93,000 93,000
OZAE J1HZd XA (FEH)
232,500,000& * 0.4 93,000
J| 23,250
< 20,925
s 48,825
=5E =4 N& 4,425,800 3,480,303 945,497
s 1,663,000
J| 85,918
< 134,589
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L= B

el

EEBIERE
H4 2¥ Lo
=59 sS4 X2

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 2,542,293
St IS ALY 255,000 255,000 0
402 RI2FX=201 M 255,000 255,000 0
01 2I2E G EAS B (KM ) 75,000 75,000 0
OstAEsIH 42 H X
2,000& = 75,000kg * 0.5 75,000
03 212t &AL S HI 180,000 180,000 0
OE+=F2 XY
40,000 = 7,500 = 0.6 180,000
UEELFAHRR () 163,674 154,890 8,784
101 14 Hl 5,154 5,010 144
04 JIZHHZ2Z2XNHESE S 5,154 5,010 144
osZ2d 4 NE FIE B2
68,7203 * 3H » 25¢ 5,154
201 Let249] 1,920 1,680 240
01 At 22l 1,920 1,680 240
Oget=gH| 1,920
~ 2228 4 NS FIIF 2AHSY
160,0008 * 128 1,920
206 M= Hl 20,000 0 20,000
01 =4l 20,000 0 20,000
OamMs8EINE Z2&0 =4 20,000,000& 20,000
307 21201 A 128,600 128,200 400
02 QB AAFEX 65,000 65,000 0
OsE2s4 s N& 65,000,000 65,000
04 DI2HHALALSE E X 60,000 60,000 0
OdH 0I5 AMN2USE XA 60,000,000& 60,000
06 23 3,600 3,200 400
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OAIE ZHIS X 70,000
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206 M= Hl 6,000 6,000 0
01 MHZ 4l 6,000 6,000 0
OsIJIHSUHAY 27 2 W=
15,000& * 4005 6,000
401 Al HIZ 201 8] 20,000 20,000 0
01 A& HI 20,000 20,000 0
OsIIHSHAS A F0 =6 & HE =
20,000,000& 20,000
405 RHoHF S HI 600,000 350,000 250,000
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OLSFSIIAHLUIIA DAALS(185)
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—sJlAns2ad 82 A
50,000& = 60K 300
o1l =l 2,750
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— oM (N2 ) FHl
150,000& » 5% « 13 750
202 044l 4,320 5,400 A 1,080
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OsJIAH N3 2=
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203 YR =2l 500 500 0
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301 getEd 3 2,000 2,000 0
09 SALAHIX A S 2,000 2,000 0
OsJIHuns&EA B4 5,000& = 4009 2,000
SIHHARSSAALY 40,500 42,000 A 1,500
< 900
i 39,600
201 LBH2E| 30,500 27,500 3,000
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i 29,600
01 At 22l 23,000 20,000 3,000
odxz 20,000
—s3E LAESEY Adsu=s =z
250,000 * 80CH 20,000
Oogas sIIAHSE C2 u=x)
3,000,000& 3,000
< 900
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02 =24l 7,500 7,500 0
oozl 1,500
—=sJlAlns 2¢¥ S
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OAIE ZHI S X 6,000
—WEEd&d KAz 120,000& * 50CH 6,000
207 A& H| 10,000 10,000 0
03 Al & 11HI 10,000 10,000 0
OXNEXESESIIAHMNL 10,000,000& * 14! 10,000
sZIIH SsEFX FERIA 20,000 20,000 0
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= 8,000
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OXEE S48 SIANE MY
400,000,000 400,000
< 120,000
s 280,000
XL 2T H s I HKE 600,000 0 600,000
= 300,000
< 90,000
s 210,000
405 TtakH S| 600,000 0 600,000
= 300,000
< 90,000
s 210,000
01 et ESFH S 600,000 0 600,000
OFMXL2LU=IIAH(Ots)+7 L
600,000,000 600,000
= 300,000
= 90,000
s 210,000
SIHuS o= 8,000 6,000 2,000
= 4,000
s 4,000
405 XtAtE SHI 8,000 6,000 2,000
= 4,000
s 4,000
01 AR ESFH S 8,000 6,000 2,000
Oussdg& Fd =Y 8,000,000& 8,000
= 4,000
e 4,000
GRASITIHLUAE 200,110 197,650 2,460
201 Let24E] 194,110 191,650 2,460
01 At 2t 2l 125,080 122,620 2,460
O e8| 25,080
—sJIH SUAY 222 HME 2,000,000& 2,000
—SIIH UMY 1 2t FH
166,660& * 6= * 128 12,000
—SJIH UMY SHOIX MHOIS=
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—sJIH SUAY 28X Xt
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01 =8l 6,000 6,000 0
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0 &ISHE 50| H A S 200,000 200,000 0
= 100,000
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[ia 70,000
405 THabH S| 200,000 200,000 0
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= 30,000
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405 XH&HF S HI 30,000 30,000 0
=} 9,000
= 21,000
01 XA E B F S| 30,000 30,000 0
OJINstselolss NEed SN 2 (S
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o= 9,000
= 21,000
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2 6.000
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=) HBEXR 33,333 15,100 18,233
= 10,000
= 23,333
307 2Iz2t0| & 33,333 15,100 18,233
= 10,000
= 23,333
06 22 33,333 15,100 18,233
OsJIHEBEEXE MY 33,333,000 33,333
= 10,000
= 23,333
SHIHL X2 &S 65,000 50,000 15,000
= 32,500
= 32,500
101 2121 H] 65,000 50,000 15,000
= 32,500
= 32,500
04 JI2ZtHIZ22NEE S 65,000 50,000 15,000
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= 78,000
= 119,000
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O DNEE i =J13 X (38)
197,000, 000& 197,000
< 78,000
[a 119,000
HY2HZH (sII=4H) 1,253,093 1,186,651 66,442
A 2AH(sYII&dH) 1,067,519 994,695 72,824
flHAxZ2 B2+ 1,067,519 994,695 72,824
101 @124l 1,067,519 994,695 72,824
03 RIHAZ 22 = 1,067,519 994,695 72,824
OtteL2A(Jta) 40,416
—Jl2s 2,360,900& * 1¥ » 123 28,331
—ARHEAFE 140,000& » 198 = 128 1,680
— ZE SO 1,180,450 198 » 23 2,361
—AN2eZRE
2,500,900%1 /226 * 1.5 = 20AI2F = 1H « 1 3,984
23
— XSt
2,500,900% /226 * 8 * 1H = 23 2,037
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bH < Xt 40,0008 * 198 » 128 480
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20,000& = 298 « 128 480
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45 2,095,310 » 198 128 25,144
3z = 2,071,180& » 6 =128 149,125
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— S E S0t 1,035,590 * 9 » 23 18,641
—IE=4 7,200
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453 80,0003 * 9% 20 14,400
—AESHEZ+Y 17,289
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—JtE=E 2,880
b < Xt 40,0002 * 48 * 123 1,920
AAEH S SHIS
20,000 = 4% = 12&8 960
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2,211,180% /243 * 1.5 » 20Al 2t » 4H «* 1 13,104
23
— g
2,211,180% /243 » 8AI 2t * 4H x 15 4,368
—=0d=
2,806,800& * 4H » 12& » 4.5% 6,063
— AL EE
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Ogt2H| 25,200,000& 25,200
o294 11,600
— 2 &Y 50,000 » 2 x 116 11,600
O=2 &l 49,896
— SN 6,0008 *» 208 + 1Y x 128 15,840
—SsEMRSH
6,000& * 229¥ = 11 * 128 17,424
—JIsXNd 6,0008 21" ~ 112 = 12& 16,632
02 3524l 31,898 26,898 5,000
O2222 2 MA 31,898,000 31,898
202 04| 37,800 35,400 2,400
01 2LHoIHI 37,800 35,400 2,400
OJl2gsd 37,800
—=sgaY 50,000 » 20 = 12& 12,000
—SsEMARSH 50,000& = 22 * 12& 13,200
—Jl=X 3 50,000& * 21 = 128 12,600
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S 100,000& » 3Y¥ 128 3,600

- 1056 -




